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Applications of Quadratic Equations

3) When two consecutive integers are squared and the squares are

added, their sum is 421. What are the possible numbers? 5 e L
Let A vepreseat T first number, Qo= 210 <
let ) 7 / second /f b= |
. , ) ( 2§ =l o= T
v =Xt — @ L+l = 210 = 0

QF ! —bt [b—4ac

A +19° = 421 —®
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A+ (AFD) = 4o S £
2 , 4 A= -1t [34) . -1+t 249
11. - ,Xa + ‘ + 24 = 4.2[ . ) — -

247 + 24— 420 = 0“4 _ _ o |

S, The possible numbers e (4, IS') ‘(;—05') = 4—)
dul{ 4) A matte of uniform w;dté’; is to be placed around a painting so that th?

9"‘({6‘“ area of the matted surface is twice tm area of the picture. If the painting's
dimensions are 40 cm by 60 cm find the width of the matte. Aca o patia }

N . . - N Area of Hie matfe \
£0c 1 % I N\ v . . : :
‘ ~ | (& "L”‘w“) — (6oxu0) =2(box 40)
| Q¢ 3 401-27( '
| ”1 Let X represent width of o matte
5 | | , /\\
1:*- {/ lLH)U + QDX\ 301 A= 4'1 _ 2400 g Lﬂg 00
“ — 42 + 200 — 4800 = o
= 7504 7300 —cot $5.4 ¥4 T4 &1 VA
e e ] )
p Fd LE + 50A — {200 = ©
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=17 ox — 61.7 S > _
°© Width o® the motte To 1T e Hwk, pg. 50 # 12, 13,15, 16
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_a vl height = 2,
The function h{t) = -512 + 20t - givas the approximate height, h metres,
of a thrown football as a function of the time, t seconds, since it was

thrown. > Set Yov h=0
a) For how long was the baii inthe air? (T inter (“VTS 7))

{ )= 'S‘t + 20t +’2; — (= —-5x2=-0, b=2p . Thea 3 n0T Oy Con

Q. —bt[F-eac ~w4 {207 —@x5x2) ~20 J4oo+4p |
¢ - - o ¥
200 -’.5)(2. “‘(C}
= —201% 20,98 —_0.048 o T4 & Tk ball was W
—(o A

te avr ’h\/ 4‘ i sel
we Yﬁ&f@u’wn@’qg becaus® a2 cun et pe NeW ot Aumbor,

} For how many seconds was the height of the ball at least 17m?
V\)N‘,ﬁ h'”"’fb 3 t= ? '

|7 = -5 420t +2
O = —5t +20¢ — 15

o The ball was W #t Qv
(Ot’c least \741/\/> Yov 2. second
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0=+ —4++3 ac=3 it
0= (t-) -
Sot=1, 3 143=+4
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#5  Sules = W0 items F i
Unit Peofit 5890 /3tem
ot = Quantity (gold) % Unie Profic
N =
Lo+ A represent
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Reveane = b % Q\AM—{-,‘HY

‘FDQ = (800 + 201> ((,ﬁ’ [7{>
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ineresse Gn sellwy pra by %20

LD pril QuwM’t L—
V\H@\N l ¥ oy 10
0 = (%ov+201) (6o—2)
A =0 iken [GO'-X‘: 0O o — A= 60
%00+ 201 = 0 5 A= =ko
A
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, » Hox Rev = To, 000
2 Vectex (10, 50,000 )
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